
Time: 10 Minutes Paper Science 8 Total Marks: 10

3rd Month, 3rd Week, 6th Day Syllabus:  Revision test Syllabus (3rd week)

Q.No.1 Encircle the correct answer from the following choices. (1 <<<< 10 = 10)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX
i. The chemical reaction during which mass is neither created nor destroyed

but is changes from one form to another. this statment belongs to:

ZZZZ((((gggg~~~~ZZZZ½½½½TTTTÆÆÆÆŠŠŠŠzzzzggggZZZZyyyyââââkkkk::::ÂÂÂÂ¶¶¶¶::::„„„„»»»»ƒƒƒƒppppZZZZqqqq----̂̂̂̂ÐÐÐÐŠŠŠŠzzzzuuuu~~~~̂̂̂̂~~~~ppppssssƒƒƒƒYYYYññññXXXXttttÒÒÒÒyyyymmmmgggg‚‚‚‚rrrrììììXXXX

(a) Law of conservation of energy ‡ây’ñZ3,Y (b) Law of conservation of matter ‡ây’ñâŠ{

(c) Law of mass action ÑYWsâkZ½ (d) Law of conservation of momentum ‡ây’ññ
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ii. The chemical formula of sodium nitrate is: ÎÎÎÎeeee************>>>>ffff$$$$»»»»6666ððððÃÃÃÃggggññññÑÑÑÑìììì::::

(a) NaNO2 (b) Na2NO3 (c) NaNO3 (d) NaNO

iii. The colour of silver chloride precipitate is: gggg³³³³ggggZZZZ[[[[++++ÆÆÆÆggggÎÎÎÎ[[[[»»»»gggg8888----ƒƒƒƒ@@@@****ìììì:::: ||||

(a) Blue 8 (b) Yellow ¨ (c) Green ! (d) White C

iv. The word "exo" means: LLLLLLLLZZZZ;;;;óóóóóóóó»»»»ÈÈÈÈììììXXXX ÂÂÂÂ

(a) Heat  wZg] (b) Inside Z0+g (c) Outside !*CÙ (d) Energy Z3,Y
v. A chemical reaction during which a compound split up into two or more

simples substances is called:

ZZZZ((((6666ððððgggg~~~~ZZZZ½½½½TTTTÆÆÆÆŠŠŠŠzzzzggggZZZZyyyyZZZZqqqq----ááááîîîî&&&&++++ŠŠŠŠzzzzcccc****iiiicccc****ŠŠŠŠ{{{{‚‚‚‚ŠŠŠŠ{{{{qqqqzzzzVVVV~~~~ppppssssƒƒƒƒYYYYññññBBBB@@@@****ìììì::::

(a) Combination reaction JVg~Z½ (b) Decomposition reaction e~ìicg~Z½

(c) Displacement reaction e
_5Ó4g.3ï FGEHg~Z½ (d) Addition reaction Zi+cg~Z½

vi. In which reaction energy is absorbed? ¾¾¾¾gggg~~~~ZZZZ½½½½~~~~ZZZZ3333,,,,YYYY____....[[[[ƒƒƒƒCCCCìììì????

(a) Exothermic reaction Z;êîg~Z½ (b) Endothermic reaction Zhzêîg~Z½

(c) Decomposition e~ìic (d) None of these Zy~ÐÃð7

vii. Fe + Cl2 ----� FeCl3 This chemical equation represents:

tttt))))zzzzZZZZ]]]]ªªªªCCCCÙÙÙÙ™™™™CCCCììììXXXX Fe + Cl2 ----� FeCl3

(a) Balanced equation áZiy)zZ] (b) Unbalanced equation )áZiy)zZ]

(c) Reversible equation g-g]45ÿGE)zZ] (d) None of these Zy~ÐÃð7

viii. Which chemist put forward law of conservation of mass?

‡‡‡‡ââââyyyy’’’’ññññââââkkkk¾¾¾¾1111ääää7777HHHH????
(a) Newton EH (b) Lavoisier CZ,̂g (c) Einstein Wí6í (d) Marie  Curie ÷~Yg~

ix. CaCO3  CaO + CO2 The is equation shows:

))))zzzzZZZZ]]]]ªªªªCCCCÙÙÙÙ™™™™CCCCìììì:::: tttt CaO + CO2 CaCO3 

(a) Combination reaction JVg~Z½ (b) Decomposition reaction e~ìicg~Z½

(c) Displacement reaction e
_5Ó4g.3ï FGEHg~Z½ (d) Addition reaction Zi+cg~Z½

x. The ability of an atom or radical to displace another depends upon its:

ÅÅÅÅZZZZVVVVcccc****ggggiiii++++ppppÅÅÅÅŠŠŠŠzzzzuuuu}}}}ÅÅÅÅ((((ppppssss™™™™ääää»»»»ZZZZ®®®®ggggZZZZkkkkÅÅÅÅ''''6666,,,,ƒƒƒƒ@@@@****ììììXXXX

(a) Electropositivity Z¼z7ik¨ (b) Electronegativity ¨ "5»43ð
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(c) Electron affinity Z
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Z¼zy (d) Both a & b ŠzâV b Zzg a

Q.No.2. Write short answers.      (2 <<<< 6 = 12) ¿¿¿¿����ZZZZ!!!!****]]]]KKKKXXXX

(i) How does the structure of substance remains stable? ÃðqZK7šù‡ìgBbì?

(ii) What is the difference between endothermic and exothermic reaction reaction.

ZhzêîZzgZ;êîg~Z¶~H�Ûtì?

(iii)  Write two examples of combination reaction. JVg~Z½ÅŠzVBKX

(iv)  What are double displacement reactions? e.Þe
_5Ó4g.3ï FGEHg~Z¶H÷?

(v) CaCl2 + Na2CO3 ----� CaCO3 + NaCl balance the given equation.

Š~ˆ)zZ]ÃáZiy™,X CaCl2 + Na2CO3 ----� CaCO3 + NaCl 

(vi) Write down two equations which verifiy law of conservation of mass.

Šz)zZ'K�‡ây’ñâkÅzŸs#™CƒVX

Q.No.3. Write long answer.     (3) ----����ZZZZ[[[[KKKKXXXX

Explain displacement and addition reactions with different examples.

ZVßVÐe
_5Ó4g.3ï FGEHZzgZi+cg~Z¶ÅzŸs#™,X
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